
CaCl2 6H2O
Iron(II) hydroxide

SF6

iodous acid
Mg(CN)2

Fe = iron is a transition metal with variable oxidation state
IO2

- = iodite and -ite goes to -ous in acid names
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B

C CH3CH3

A
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D

D

C
average is closest to 305 despite all
other isotopes being lower in mass
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= 55.45%
= 100-55.45=44.55 %

(109.112231*0.5545)+(110.718210*0.4455)=109.827695 
60.502932 49.324963 = 109.83

109.83

4 sig figs each multiplication.-
hundredths place addition.-

189.40

60.06

32.00
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1.76E23

5.29 

6.08E22

9.06

55.37

1. find mass using density
2. solve for atoms
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53.37

E



A

Si2H4

CuCO3

1. find moles assuming 100g sample
2. divide by smallest moles
3. use whole number ratio to find

empirical mass 
4. divide molar mass by empirical mass
5. multiple the whole number ratio by 

empirical formula

1. Assuming 100 g sample,
grams = %mass.

2. solve for moles each and divide by smallest
number of moles

3. whole number ratios give empirical formula
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BE

others can be reduced

0.45

C6H10O5

in combustion analysis,
1. all C comes from CO2.
2. all H comes from H2O
3. total - C - H = mass O

4. convert to moles and find empirical
formula like above. 

5. The only difference
is the need to multiply out by a whole number
factor to the lowest whole number ratio of 
atoms 
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0.493

uh



B
unbalanced

2H2 + C --> CH4
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2Al(s) + 6HCl(aq) --> 2AlCl3(aq) + 3H2(g)

2C3H7OH(l) + 9O2(g) --> 6CO2(g) + 8H2O(g)

2343

2 3                4                 3

34112

3                           4                      1                       12

   1211 Page 10    



2                  25                16               18

1.1E3

4Fe(s) + 3O2(g) --> 2Fe2O3(s)214

1.86
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3.50
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